Balancing chemical equations

Chemical equation Reactant Product
atoms atoms
HCl(aq) + Mg(s) = MgCly(aq) + Ha(g) Cl=1 Cl=2
Mg=1 Mg=1
H=1 H=2
Balanced equation Cl=2 Cl=2
2HCl(aq) + Mg(s) = MgClx(aq) + H(g) Mg=1 Mg=1
H=2 H=2
Na»COs(s) + HCI(ag) = NaCl(aq) + CO,(g) + H>O(l) Cl=1 Cl=1
Na =2 Na =1
H=1 H=2
0=3 0=3
c=1 c=1
Balanced equation Cl=2 Cl=2

Na,COs(s) + 2HCl(aq) = 2NaCl(aq) + CO2(g) + H20(l) Na =2 Na =2
H=2 H=2
0=3 0=3
c=1 c=1

CsHs(g) + 02(g) > COa(g) + H20(l) H=8 H=2
0=2 0=3
c=3 c=1

Balanced equation H=8 H=8

CsHs(g) + 50,(g) = 3CO4(g) + 4H-0(l) 0=10 0=10
c=3 c=3

C2Hs(g) + O2(g) > CO(g) + H20(l) H=6 H=2
0=2 0=3
c=2 Cc=1

Balanced equation H=12 H=12

2C;He(g) + 702(g) = 4C0x(g) + 6H20(l) 0=14 0=14
c=4 Cc=4

N2(g) + Ha(g) = NHs(g) N=2 N=1
H=2 H=3

Balanced equation N=2 N=2

N2(g) + 3H2(g) 2 2NHs(g) H=6 H=6

HzSO4aq) + AI203(aq) > AIz(SO4)3(aq) + HzO(l) H=2 H=2
o=7 0=13
S=1 $=3
Al=2 Al=2

Balanced equation H=6 H=6

3H2504aq) + A/gOg(Gq) 9/4/2(504)3(067) + 3/‘/20(/) 0=15 0=15
$=3 $=3
Al=2 Al=2

Ag(s) + HaS(g) + 0a(g) = AgaS(s) + H0(l) Ag=1 Ag=2
H=2 H=2
S=1 S=1
0=2 0=1

Balanced equation Ag=4 Ag=4

4Ag(s) + 2H,5(g) + O2(g) 2 2Ag.S(s) + 2H.0(1) H=4 H=4
§$=2 S$=2
0=2 0=2




